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Chapter 18 
 
1. - 
 
2. Z = −j5 Ω + 2 Ω –0° || 5 Ω –90° = −j5 Ω + 1.72 Ω + j0.69 Ω  = 4.64 Ω –−68.24°  

 I =  = 12.93 A –98.24°  

 
3. Z = 10 Ω –0° || 6 Ω –90° = 5.15 Ω –59.04°  
 E = IZ = (2 A –120°)(5.15 Ω –59.04°) 
             = 10.30 V –179.04°  
 

4. a. I =  = 4 ¥  10-3 V 

  Z = 4 kΩ –0°  
 
 b. V = (hI)(R) = (50 I)(50 kΩ) = 2.5 ¥  106 I 
  Z = 50 kΩ –0°  
 
5. Clockwise mesh currents: 
 
 E - I1Z1 - I1Z2 + I2Z2 = 0 
 -I2Z2 + I1Z2 - I2Z3 - E2 = 0 
 ──────────────────── 
 [Z1 + Z2]I1 - Z2I2 = E1 
 -Z2I1 + [Z2 + Z3]I2 = -E2 
 ────────────────── 

Z1 = R1 –0° = 4 Ω –0° 
Z2 = XL –90° = 6 Ω –90° 
Z3 = XC –-90° = 8 Ω –-90° 
E1 = 10 V –0°, E2 = 40 V –60° 

  =  =  = 5.15 A –-24.5°  

 
6. By interchanging the right two branches, the general configuration of Problem 5 will result and 
 

I1(Z1 + Z2) - I2Z2 = E1 - E2 
I2(Z2 + Z3) - I1Z2 = E2 
─────────────────── 
and I1(Z1 + Z2) - I2Z2 = E1 - E2 

-I1Z2 + I2(Z2 + Z3) = E2 
─────────────────── 
I50Ω = I1 = 145.45 mA –187.59° 

Z1 = R1 = 50 Ω –0° 
Z2 = XC –-90° = 40 Ω –-90° 
Z3 = XC –-90° = 60 Ω –-90° 
E1 = 5 V –30° 
E2 = 20 V –0° 
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 7. a. 
 

 

Z1 = 12 Ω + j12 Ω = 16.971 Ω –45° 
Z2 = 3 Ω –0° 
Z3 = -j1 Ω 
E1 = 20 V –50° 
E2 = 60 V –70° 
E3 = 40 V –0° 

 
  I1[Z1 + Z2] - Z2I2 = E1 - E2 
  I2[Z2 + Z3] - Z2I1 = E2 - E3 
  ─────────────────── 
    (Z1 + Z2)I1 - Z2I2 = E1 - E2 
  -Z2I1 + (Z2 + Z3)I2 = E2 - E3 
  ───────────────────── 
  Using determinants: 

    = 2.55 A –132.72°  

 
8. Clockwise mesh currents: 

 
E1 - I1Z1 - I1Z2 + I2Z2 = 0 
-I2Z2 + I1Z2 - I2Z3 - I2Z4 + I3Z4 = 0 
-I3Z4 + I2Z4 - I3Z5 - E2 = 0 
───────────────────────── 

 

─────────────────────────────────── 

 

    

� 

X L1
 = wL1 = (2π)(2 kHz)(110 µH) 
= 1.38 Ω 

    

� 

X L2
 = wL2 = (2π)(2 kHz)(220 µH) 
= 2.76 Ω 

        

� 

X C1
=

1
wC1

=
1

2p (2 kHz)(39mF)
 

= 3.62 Ω 

        

� 

X C2
=

1
wC2

=
1

2p (2 kHz)(39mF)
 

= 2.04 Ω 
Z1 = 4 Ω + j1.38 Ω 
Z2 = -j3.62 Ω 
Z3 = j2.76 Ω 
Z4 = -j2.04 Ω 
Z5 = 8 Ω –0° 
E1 = 6 V –0° 
E2 = 120 V –120° 

  

 
        

� 

IR1
= I3 =

[Z2Z4]E1 + [Z2
2 - [Z1 + Z2][Z2 + Z3 + Z4]]E2

[Z1 + Z2][Z2 + Z3 + Z4][Z4 + Z5] - [Z1 + Z2]Z4
2 - [Z4 + Z5]Z2

2  

= 
    

� 

1000 VÐ -64.5°
124.4 ΩÐ -68.34°

 = 8.04 A –3.84° 
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9.   

 

 
 
Z1 = 15 Ω –0°, Z2 = 15 Ω –0° 
Z3 = -j10 Ω = 10 Ω –-90° 
Z4 = 3 Ω + j4 Ω = 5 Ω –53.13° 
E1 = 220 V –0° 
E2 = 100 V –90° 

 
 I1(Z1 + Z3) - I2Z3 - I3Z1 = E1 
 I2(Z2 + Z3) - I1Z3 - I3Z2 = -E2 
 I3(Z1 + Z2 + Z4) - I1Z1 - I2Z2 = 0 
 ─────────────────────── 
   I1(Z1 + Z3) - I2Z3            - I3Z1                    = E1   
 -I1Z3            + I2(Z2 + Z3) - I3Z2                    = -E2 
 -I1Z1            - I2Z2            + I3(Z1 + Z2 + Z4) = 0 
 ─────────────────────────────────── 
 Applying determinants: 

 I3 =  

               = 48.33 A –-77.57°  

 or   I3 =  if one carefully examines the network! 

10.  

 

 
 
Z1 = 5 Ω –0°, Z2 = 5 Ω  –90°  
Z3 = 4 Ω –0°, Z4 = 6 Ω –-90° 
Z5 = 4 Ω –0°, Z6 = 6 Ω + j8 Ω 
E1 = 20 V –0°, E2 = 40 V –60° 

 

 I1(Z1 + Z2 + Z4) - I2Z2 - I3Z4 = E1 
 I2(Z2 + Z3 + Z5) - I1Z2 - I3Z5 = -E2 
 I3(Z4 + Z5 + Z6) - I1Z4 - I2Z5 = 0 
 ───────────────────────── 
 (Z1 + Z2 + Z4) I1                    - Z2I2                    - Z4I3 = E1 
         -Z2I1 + (Z2 + Z3 + Z5)I2                    - Z5I3 = -E2 
         -Z4I1                    - Z5I2 + (Z4 + Z5 + Z6)I3 = 0 
 ───────────────────────────────────────── 
 Using Z¢ = Z1 + Z2 + Z4, Z≤ = Z2 + Z3 + Z5,  = Z4 + Z5 + Z6 and determinants: 
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11.   

 

 
 
 
Z1 = 10 Ω + j20 Ω  Z2 = -j20 Ω 
Z3 = 80 Ω –0°  Z4 = 6 Ω –0° 
Z5 = 15 Ω –90°  Z6 = 10 Ω –0° 
Z7 = 5 Ω –0°  Z8 = 5 Ω - j20 Ω 
E1 = 25 V –0°  E2 = 75 V –20° 

 

 I1(Z4 + Z6 + Z7) - I2Z4 - I4Z6 = E1 
 I2(Z1 + Z2 + Z4) - I1Z4 - I3Z2 = 0 
 I3(Z2 + Z3 + Z5) - I2Z2 - I4Z5 = -E2 
 I4(Z5 + Z6 + Z8) - I1Z6 - I3Z5 = 0 
 ───────────────────────── 
 (Z4 + Z6 + Z7) I1                   - Z4 I2                    + 0                        - Z6I4 = E1 
         -Z4I1 + (Z1 + Z2 + Z4)I2                    - Z2I3                        + 0  = 0 
      0                   - Z2   I2 + (Z2 + Z3 + Z5)I3                    - Z5I4 = -E2 
         -Z6I1                   + 0                          - Z5I3 + (Z5 + Z6 + Z7)I4 = 0 
 ──────────────────────────────────────────────────── 
 Applying determinants: 
   = 0.68 A –-162.9°  
 
 12.   

 

Z1 = 5 kΩ –0° 
Z2 = 10 kΩ –0° 
Z3 = 1 kΩ + j4 kΩ = 4.123 kΩ –75.96° 

 I1(Z1 + Z2) - Z2I2 = -28 V 
 I2(Z2 + Z3) - Z2I1 = 0 
 ────────────────── 
   (Z1 + Z2)I1 - Z2I2 = -28 V 
 -Z2I1 + (Z2 + Z3)I2 = 0 
 ─────────────────── 

 IL = I2 =  = -3.17 ¥  10-3 V –137.29°  

 
13.  

 

Source Conversion: 
 E = (I –θ)(Rp –0°)  
     = (50 I)(40 kΩ –0°) 
     = 2 ¥ 106 I –0° 
 Z1 = Rs = Rp = 40 kΩ –0° 
 Z2 = -j0.2 kΩ 
 Z3 = 8 kΩ –0° 
 Z4 = 4 kΩ –90° 

 I1(Z1 + Z2 + Z3) - Z3I2 = -E 
 I2(Z3 + Z4) - Z3I1 = 0 
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 ──────────────────── 
 (Z1 + Z2 + Z3)I1 - Z3I2 = -E 
       -Z3I1 + (Z3 + Z4)I2 = 0 
 ──────────────────── 

 IL = I2 =  = 42.91 I –149.31°  

 
14. 6Vx - I1 1 kΩ - 10 V –0° = 0 
 10 V–0° - I2 4 kΩ - I2 2 kΩ = 0 
 ─────────────────────── 
 Vx = I2 2 kΩ 
 

 -I1 1 kΩ + I2 12 kΩ = 10 V –0° 
 -I2 6 kΩ = -10 V –0° 
 ────────────────────── 

 I2 = =  = 1.67 mA –0°  = I2kΩ 
 

 -I1 1 kΩ + (1.667 mA –0°)(12 kΩ) = 10 V –0° 
 -I1 1 kΩ + 20 V –0° = 10 V –0° 
 -I1 1 kΩ = -10 V –0° 

 I1 = =  = 10 mA –0°  

 
15. 

 

E1 = 5 V –0° 
E2 = 20 V –0° 
Z1 = 2.2 kΩ –0° 
Z2 = 5 kΩ –90° 
Z3 = 10 kΩ –0° 
I = 4 mA –0° 

  E1 - I1Z1 - Z2(I1 - I2) = 0 
 -Z2(I2 - I1) + E2 - I3Z3 = 0 
 ─────────────────── 
  I3 - I2 = I 
 
 Substituting, we obtain: 
 
  I1(Z1 + Z2) - I2Z2 = E1 
  I1Z2 - I2(Z2 + Z3) = IZ3 - E2 
  ──────────────────── 
 Determinants: 
 
  I1 = 1.39 mA –-126.48°, I2 = 1.341 mA –-10.56°, I3 = 2.693 mA –-174.8° 
  I10kΩ = I3 = 2.69 mA –-174.8°  
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16. 
 

 

Z1 = 1 kΩ –0° 
Z2 = 4 kΩ + j6 kΩ 
E = 10 V –0° 

 -Z1(I2 - I1) + E - I3Z3 = 0 
  I1 = 6 mA –0°, 0.1 Vs = I3 - I2, Vs = (I1 - I2)Z1 
 ───────────────────────────────── 
 Substituting: 
 
  (1 kΩ)I2 + (4 kΩ + j6 kΩ)I3 = 16 V –0° 
  (99 Ω)I2 +                         I3 = 0.6 V –0° 

  ──────────────────────────── 
 Determinants: 
 
  I3 = I6 kΩ = 1.38 mA –-56.31°  
 
17.  

 

 
 
Z1 = 4 kΩ –0° 
Z2 = 1 kΩ –90° 
Z3 = 8 kΩ –-90° 
I1 = 3 mA –0° 
I2 = 5 mA –30° 

      

� 

V1
1
Z1

+
1

Z2

é 

ë 
ê 

ù 

û 
ú -

1
Z2

V2 = I1 

      

� 

V2
1

Z2
+

1
Z3

é 

ë 
ê 

ù 

û 
ú -

1
Z2

V1 = -I2  

────────────────────── 

         

� 

V1
1
Z1

+
1

Z2

é 

ë 
ê 

ù 

û 
ú - V2

1
Z2

é 

ë 
ê 

ù 

û 
ú = I1

 

      

� 

-V1
1

Z2

é 

ë 
ê 
ê 

ù 

û 
ú 
ú 
+ V2

1
Z2

+
1

Z3

é 

ë 
ê 
ê 

ù 

û 
ú 
ú 

= -I2  

────────────────────── 
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� 

I1          - 1
Z2

-I2            1
Z2

+
1

Z3

æ 

è 
ç 

ö 

ø 
÷ 

V1 =  ____________________ = 11.99 VÐ -154.53°
1

Z1

+
1

Z2

æ 

è 
ç 

ö 

ø 
÷ -

1
Z2

-
1

Z2

1
Z2

+
1

Z3

æ 

è 
ç 

ö 

ø 
÷ 

1
Z1

+
1

Z2

æ 

è 
ç 

ö 

ø 
÷             I1

  - 1
Z2

               - I2

V2 =  ____________________  = 14.46 VÐ -131.28°

                        ¢ ¢                       

 

 

 
 0 = I1 + I3 + I4 + I2 

 0 = I1 +  

  

 or V1[Y1 + Y2] - V2[Y2] = -I1 - I2 
  ────────────────────── 
 I2 + I4 = I5 

 I2 +  

  

 or  V2[Y2 + Y3] - V1[Y2] = I2 
  ────────────────── 
 and    [Y1 + Y2]V1 - Y2V2 = -I1 - I2 
  -Y2V1 + [Y2 + Y3]V2 = I2 
 

18. 

 

 
 
Z1 = 3 Ω + j4 Ω = 5 Ω –53.13° 
Z2 = 2 Ω –0° 
Z3 = 6 Ω –0° || 8 Ω –-90° 
    = 4.8 Ω –-36.87° 
I1 = 0.6 A –20° 
I2 = 4 A –80° 
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 Applying determinants: 
 

  V1 =  = 5.12 V –-79.36°  

  V2 =  = 2.71 V –39.96°  

 
 19.  
 

 

Z1 = 5 Ω –0° 
Z4 = 2 Ω –0° 
E = 30 V –50° 
I = 4 A –90° 
XL = 2πfL = 2π(10 kHz)(0.1 mH) = 6.28Ω 

XC = 
        

� 

1
2p fC

=
1

2p (10 kHz)(4.7 mF)
 

= 3.39 Ω 
Z2 = 6.28 Ω –90° 
Z3 = 3.39 Ω –-90° 

 
 
  V1[Y1 + Y2 + Y3] - V2Y3 = E1Y1 
     -V1[Y3] + V2[Y3 + Y4] = +I 
  ────────────────────── 
 Using determinants: 
 
  V1 = 17.92 V –59.25°  and V2 = 13.95 V –93.64°  
 
20.   

  

 
 
 
Z1 = 10 Ω –0° 
Z2 = 10 Ω –0° 
Z3 = 4 Ω –90° 
Z4 = 2 Ω –0° 
Z5 = 8 Ω –-90° 
E = 50 V –120° 
I = 0.8 A –70° 

 I1 = I2 + I5 

 fi  

 or V1[Y1 + Y2 + Y3 + Y5] - V2[Y3 + Y5] = E1Y1 
 
 I3 + I5 = I4 + I 

  fi  

 or V2[Y3 + Y4 + Y5] - V1[Y3 + Y5] = -I 
 
 resulting in 
 

    

� 

ü 
ý 
ï 

þ ï 
 after source conversion.
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   V1[Y1 + Y2 + Y3 + Y5] - V2[Y3 + Y5] = E1Y1 
           -V1[Y3 + Y5] + V2[Y3 + Y4 + Y5] = -I 
    ─────────────────────────────── 
 Applying determinants: 
 

 V1 = 19.78 V –132.48°  and V2 = 13.37 V –98.78°  
 
21.    

  

 
Z1 = 15 Ω –0° 
Z2 = 10 Ω –-90° 
Z3 = 15 Ω –0° 
Z4 = 3 Ω + j4 Ω  
 

 

  

 V2    

      

� 

1
15 Ω

+
1

- j10 Ω
+

1
15 Ω

é 

ë 
ê 

ù 

û 
ú -

1
15 Ω

220 VÐ 0°[ ] - 1
15 Ω

100 VÐ 90°[ ] = 0 
 

V2   [133.34 ¥ 10-3 + j100 ¥ 10-3] = 14.67 + j6.67
 

  = 96.30 V –-12.32°  

 V1 =  E1 = 220 V –0° , V3 = E2 = 100 V –90°  
 
 22. 

 

 
 
 
 
E1 = 25 V –0° 
E2 = 75 V –20° 

Z1 = 10 Ω + j20 Ω 
Z2 = 6 Ω –0° 
Z3 = 5 Ω –0° 
Z4 = 20 Ω –-90° 
Z5 = 10 Ω –0° 
Z6 = 80 Ω –0° 
Z7 = 15 Ω –90° 
Z8 = 5 Ω - j20 Ω 

 

 V1:   = 0 

 V2:   = 0 

 V3:   = 0 

 V4:   = 0 

 ─────────────────────── 
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 Rearranging: 

  V1

      

� 

1
Z1

+
1

Z2
+

1
Z3

æ 

è 
ç 

ö 

ø 
÷  -  =  

  V2

      

� 

1
Z1

+
1

Z4
+

1
Z6

æ 

è 
ç 

ö 

ø 
÷  -  =  

  V3

      

� 

1
Z6

+
1

Z7
+

1
Z8

æ 

è 
ç 

ö 

ø 
÷  -  =  

  V4

      

� 

1
Z2

+
1

Z4
+

1
Z7

+
1

Z5

æ 

è 
ç 

ö 

ø 
÷  -  = 0 

 
 Setting up and then using determinants: 
 
  V1 = 14.62 V –-5.86° , V2 = 35.03 V –-37.69°  
  V3 = 32.4 V –-73.34° , V4 = 5.67 V –23.53°  
 
 
23.  
  
 
 
 
 
 
 

 

 
   

Y1 =   

     = 0.25 S –0° 

Y2 =  

    = 1 S –-90° 

Y3 =   

     = 0.2 S –0° 

Y4 =   

     = 0.25 S –90° 

Y5 =   

     = 0.125 S –-90° 
I1 = 2 A –30° 
I2 = 3 A –150° 

   V1[Y1 + Y2] - Y2V2 = I1 
   V2[Y2 + Y3 + Y4] - Y2V1 - Y4V3 = -I2 
   V3[Y4 + Y5] - Y4V2 = I2 
   ─────────────────────────── 
 
 [Y1 + Y2]V1                   - Y2  V2                  + 0  = I1 
          -Y2V1 + [Y2 + Y3 + Y4]V2           - Y4  V3  = -I2 
               0                       - Y4 V2 + [Y4 + Y5]V3   = I2 
 ──────────────────────────────────── 

 V1 =  

     = 5.74 V –122.76°  



224 CHAPTER 18 

 V2 =  = 4.04 V –145.03°  

 V3 = = 25.94 V –78.07°  

 
24.  

  
 
 V1[Y1 + Y2 + Y3] - Y2V2 - Y3V3 = I1 
 V2[Y2 + Y4 + Y5] - Y2V1 - Y4V3 = 0 
 V3[Y3 + Y4 + Y6] - Y3V1 - Y4V2 = -I2 
 ─────────────────────────── 
 [Y1 + Y2 + Y3]V1                   -  Y2V2                   -  Y3V3  = I1 
        -Y2V1 + [Y2 + Y4 + Y5]V2                   -  Y4V3 = 0 
        -Y3V1                   -  Y4V2 + [Y3 + Y4 + Y6]V3 = -I2 
 ────────────────────────────────────────── 

Y1 =   

     = 0.25 S –0° 

Y2 =  

     = 0.167 S –0° 

Y3 =   

     = 0.125 S –0° 

Y4 =  

     = 0.5 S –90° 

Y5 =   

     = 0.2 S –-90° 

Y6 =   

     = 0.25 S –-90° 
I1 = 4 A –0° 
I2 = 6 A –90° 

 V1 =  

      = 15.13 V –1.29°  

 V2 =  = 17.24 V –3.73°  

 V3 =   

      = 10.59 V –-0.11°  
 
25. Left node: V1 
    

   4Ix = Ix + 5 mA –0° +  

 Right node: V2 
    

   8 mA –0° =  

 Insert Ix =  
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 Rearrange, reduce and 2 equations with 2 unknowns result: 
  V1[1.803 –123.69°] + V2 = 10 
  V1[2.236 –116.57°] + 3 V2 = 16 
  ────────────────────── 
 Determinants: V1 = 4.37 V –-128.66°  
    V2 = V1kΩ = 2.25 V –17.63°  
 
26. 

 

Z1 = 1 kΩ –0° 
Z2 = 2 kΩ –90° 
Z3 = 3 kΩ –-90° 
I1 = 12 mA –0° 
I2 = 4 mA –0° 
E = 10 V –0° 

 
     

   0 = I1 +  

   and  = -I1 - I2 

   with V2 - V1 = E 
 
 Substituting and rearranging: 
 

   = -I1 - I2 -  

 
 and solving for V1: 
 
  V1 = 15.4 V –  178.2°  
 with V2 = VC = 5.41 V –  174.87°  
 
27. Left node:  V1 
          

           2 mA –0° = 12 mA –0° +  

         and 1.5 V1 - V2 = -10 
 Right node: V2 
    

   0 = 2 mA –0° +  

   and 2.7 V1 - 3.7 V2 = -6.6 
 
 Using determinants: V1 = V2kΩ = -10.67 V –0°  = 10.67 V –180°  
     V2 = -6 V –0°  = 6 V –180°  
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28. 

 

Z1 = 2 kΩ –0° 
Z2 = 1 kΩ–0° 
Z3 = 1 kΩ –0° 
I = 5 mA –0° 

 V1:  I =  

  with I1 =  

  and V2 - V1 = 2Vx = 2V1 or V2 = 3V1 
 
 Substituting will result in: 
 

   = I 

 or  = I 

 
 and  V1 = Vx = -2 V –0°  
 with  V2 = -6 V –0°  
 
29. 
 

 

I1 =  = 1 ¥ 10-3 Ei 

Y1 =  = 0.02 mS –0° 

Y2 =  = 1 mS –0° 

Y3 = 0.02 mS –0° 
I2 = (V1 - V2)Y2 

 
 V1(Y1 + Y2) - Y2V2 = -50I1 
 V2(Y2 + Y3) - Y2V1 = 50I2 = 50(V1 - V2)Y2 = 50Y2V1 - 50Y2V2 
 ──────────────────────────────────────────── 
          (Y1 + Y2)V1 - Y2V2 = -50I1 
 -51Y2V1 + (51Y2 + Y3)V2 = 0 
 ─────────────────────── 

 VL = V2 =  = -2451.92 Ei 
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30. a.     yes  
   =  

   =  

              2 –-90° = 2 –-90° (balanced) 
 
 b. Z1 = 5 kΩ –0°, Z2 = 8 kΩ –0° 
  Z3 = 2.5 kΩ –90°, Z4 = 4 kΩ –90° 
  Z5 = 5 kΩ –-90°, Z6 = 1 kΩ –0° 
 

   

I1[Z1 + Z3 + Z6] - Z1I2 - Z3I3 = E 
I2[Z1 + Z2 + Z5] - Z1I1 - Z5I3 = 0 
I3[Z3 + Z4 + Z5] - Z3I1 - Z5I2 = 0 
─────────────────────── 

 
  [Z1 + Z3 + Z6]I1                    - Z1I2                    - Z3I3 = E 
         -Z1I1 + [Z1 + Z2 + Z5]I2                    - Z5I3 = 0 
         -Z3I1                    - Z5I2 + [Z3 + Z4 + Z5]I3 = 0 
  ─────────────────────────────────────── 
 

  I2 =  

  I3 =  

   = I2 - I3 = 
      

� 

E[Z1Z 4 - Z 3Z 2 ]
ZD

=
E[20´106 Ð 90° -20´106 Ð 90°]

ZD
 = 0 A 
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 c. 

    
 
  V1[Y1 + Y2 + Y6] - Y1V2 - Y2V3 = I 
  V2[Y1 + Y3 + Y5] - Y1V1 - Y5V3 = 0 
  V3[Y2 + Y4 + Y5] - Y2V1 - Y5V2 = 0 
  ───────────────────────── 
 [Y1 + Y2 + Y6]V1                     - Y1V2                     - Y2V3 = I 
         -Y1V1 + [Y1 + Y3 + Y5]V2                     - Y5V3 = 0 
         -Y2V1                     - Y5V2 + [Y2 + Y4 + Y5]V3 = 0 
 ───────────────────────────────────────── 
 

I =  =   

   = 10 mA –0° 

Y1 =   

     = 0.2 mS –0° 

Y2 =   

     = 0.125 mS –0° 

Y3 =   

     = 0.4 mS –-90° 

Y4 =   

     = 0.25 mS –-90° 

Y5 =   

     = 0.2 mS –90° 

Y6 =  

    V2 = 1 mS –0° 

V2 =  

V3 =  

 = V2 - V3 =   

        = 0 V 
 

31. a.    =  

     

            1 –-90° π 1 –90° (not balanced) 
 

 b. The solution to 26(b) resulted in 

   I3 =  = 
      

� 

E(Z1Z 5 + Z 3 (Z1 + Z 2 + Z 5 ))
ZD

 

  where  ZΔ = (Z1 + Z3 + Z6)[(Z1 + Z2 + Z5)(Z3 + Z4 + Z5) - ]  
       - Z1[Z1(Z3 + Z4 + Z5) - Z3Z5] - Z3[Z1Z5 + Z3(Z1 + Z2 + Z5)] 
  and  Z1 = 5 kΩ –0°, Z2 = 8 kΩ –0°, Z3 = 2.5 kΩ –90° 
    Z4 = 4 kΩ –90°, Z5 = 5 kΩ –-90°, Z6 = 1 kΩ –0° 
  and    = 1.76 mA –-71.54°  
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 c. The solution to 26(c) resulted in 

   V3 =  =  

 
  where  YΔ = (Y1 + Y2 + Y6)[(Y1 + Y3 + Y5)(Y2 + Y4 + Y5) - ] 
      - Y1 [Y1(Y2 + Y4 + Y5) + Y2Y5]  
      - Y2[Y1Y5 + Y2(Y1 + Y3 + Y5)] 
  with  Y1 = 0.2 mS –0°, Y2 = 0.125 mS –0°, Y3 = 0.4 mS –-90° 
    Y4 = 0.25 mS –-90°, Y5 = 0.2 mS –90° 
 
  Source conversion:  Y6 = 1 mS –0°, I = 10 mA –0° 
      and  V3 = = 7.03 V –-18.46°  

 
32. Z1Z4 = Z3Z2 

 (R1 - jXC)  = R3R2   XC =  = 1 kΩ 

 (1 kΩ - j1 kΩ)  = (0.1 kΩ)(0.1 kΩ) = 10 kΩ 

  and  =  = 5 Ω + j5 Ω 

           

  \ Rx = 5 Ω, Lx =  = 5 mH 

 

33. 
        

� 

X C1
=

1
wC1

=
1

(1000 rad/s)(3 mF)
=

1
3

kΩ  

 Z1 = R1 || –-90° = (2 kΩ –0°) ||  kΩ –-90° = 328.8 Ω –-80.54° 

 Z2 = R2 –0° = 0.5 kΩ –0°, Z3 = R3 –0° = 4 kΩ –0° 
 Z4 = Rx + j  = 1 kΩ + j6 kΩ 

    =  

      

   82.2 ¥ 10-3–-80.54°  82.2 ¥ 10-3 –-80.54° (balanced) 
 
34. Apply Eq. 18.6. 
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35. For balance: 
  R1(Rx + j ) = R2(R3 + j ) 

  R1Rx + jR1  = R2R3 + jR2  

  \ R1Rx = R2R3 and  

  R1  = R2  and R1wLx = R2wL3 

   so that  

 
36. a. 
 

 

Z1 = 8 Ω –-90° = -j8 Ω 
Z2 = 4 Ω –90° = +j4 Ω 
Z3 = 8 Ω –90° = +j8 Ω 
Z4 = 6 Ω –-90° = -j6 Ω 
Z5 = 5 Ω –0° 

 

  Z6 =  = 5 Ω –38.66° 

  Z7 =  = 6.25 Ω –-51.34° 

  Z8 =  = 3.125 Ω –128.66° 

   Z¢ = Z7 + Z3 = 3.9 Ω + j3.12 Ω = 4.99 Ω –38.66° 
   Z≤ = Z8 + Z4 = -1.95 Ω - j3.56 Ω = 4.06 Ω –-118.71° 
   Z¢  || Z≤ = 10.13 Ω –-67.33°= 3.90 Ω - j9.35 Ω 
  ZT = Z6 + Z¢  || Z≤ = 7.80 Ω - j6.23 Ω = 9.98 Ω –-38.61° 

  I =  = 12.02 A –38.61°  

 

37. ZY = 
        

� 

ZD
3

=
12 Ω - j9Ω

3
= 4 Ω - j3 Ω 
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 ZT = 2 Ω + 4 Ω + j3 Ω + [4 Ω - j3 Ω + j3 Ω] || [4 Ω - j3 Ω + j3 Ω] 
     = 6 Ω - j3 Ω + 2 Ω 
     = 8 Ω - j3 Ω = 8.544 Ω –-20.56° 

 I =  = 7.02 A –20.56°  

 
 38.  

 

ZΔ = 3ZY = 3(3 Ω –90°) = 9 Ω –90° 
  Z = 9 Ω –90° || (12 Ω - j16 Ω) 
     = 9 Ω –90° || 20 Ω –53.13° 
     = 12.96 Ω –67.13° 

 

 ZT = Z || 2Z =  [12.96 Ω –67.13°] = 8.64 Ω –67.13° 

  I =  = 11.57 A –-67.13°  

 
39. ZΔ = 3ZY = 3(5 Ω) = 15 Ω 
 

  

Z1 = 15 Ω –0° || 5 Ω –-90° 
     = 4.74 Ω –-71.57° 
Z2 = 15 Ω –0° || 5 Ω –-90° = 4.74 Ω –-71.57° 
Z3 = Z1 = 4.74 Ω –-71.57° 
     = 1.5 Ω - j4.5 Ω 

 
 ZT = since Z1 = Z2 = Z3 

 ZT = Z1 || (Z1 + Z1) = Z1 || 2Z1 = 
      

� 

2Z1
2

Z1 + 2Z1
=

2Z1
2

3Z1
=

2
3

Z1 

 ZT = 
  

� 

2
3

(4.74 Ω –-71.57°) = 3.16 Ω –-71.57° 

 I = 
        

� 

E
ZT

=
100 VÐ 0°

3.16 ΩÐ -71.57°
 = 31.65 A –71.57°  

 


